SLUM REHABILITATION AUTHORITY

No: SRA/Maint. Sec./Desk-1/ 67 /2022

Date: 09-01-2022

QUOTATION NOTICE

- 1. Quotations in sealed covers are invited from the Contractors so as to reach the office of the undersigned at Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai-400 051. on or before 17/01/2023 upt 3.00 p.m. for the work of Repair to existing compound wall and erecting temporary shed for security-staff on main gate at Admin bldg., Slum Rehabilitation Authority, Bandra (E), Mumbai-400051.
- 2. The estimated cost of the work is Rs. 2,86,616/- (Rupees Two lakhs eighty-six thousand six hundred and sixteen Only)
- 3. The quotations in sealed cover shall be addressed to the Executive Engineer Maint/SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. The blank quotations can be downloaded from the tender section of SRA website www.sra.gov.in from 09/01/2023 to 17/01/2023 upto 3.00 p.m.
- 4. The quotationer shall quote in ink his percentage offer above/below or at par the estimated cost both in figures and words. The quotation should be submitted in a single sealed Envelope containing forwarding letter, quotation notice and duly filled Schedule-B and signed on each page.
- 5. The name of work for which quotations have been given should be stated clearly on the envelope containing the quotation and name of Contractor should be written on lower left of envelope.
- 6. The sealed quotation will be received by the office of Executive Engineer Maint./SRA, Slum Rehabilitation Authority, Administrative Bldg., Anant Kanekar Marg, Bandra (E), Mumbai- 400 051. upto 3.00 p.m. by $\frac{17}{01}/2023$ and will be opened at 3.30 p.m. on the same day as far as possible in the presence of the contractors/their representatives whosoever remain present at that
- 7. The quantities as shown in Schedule 'B' are approximate. The payment will be made as per actual quantity of work done.
- 8. The acceptance of quotation shall rest with the competent authority who reserves the right to reject any or all the quotations without assigning any reason for doing so.
- 9. The quotation submitted by the quotationer shall be binding on him for a period of 60 days from the last date of receipt of quotation.
- 10. No alternation in the form of quotation or schedule of quantities, specifications shall be entertained.
- 11. The entire work is to be completed within 30 days.
- 12. The work shall be carried out in accordance with I.S. specifications for the particular items and as per the detailed specifications mentioned in Schedule-B.

- 13. The rates quoted shall be inclusive of all taxes, Octroi Duty and free delivery at site of work and nothing extra shall be paid on any account.
- 14. The quotationer is advised to visit and examine the site of work and its surroundings before quoting the rate and acquaint themselves with the site conditions.
- 15. The contractor will have to make his/ their own arrangement at his/their cost for office and stores and safeguard the materials brought on the work and the materials issued by the department if any.
- 16. The contractor shall provide all labours, tools, pegs, watering and all other materials as required for line out and setting out the layout etc. for the work without claiming any payment.
- 17. After the completion of the work, the contractor shall remove forthwith all his/ their serviceable and un-serviceable materials from site of work and other debris shall be dumped and levelled as ordered within the scope of work if so ordered without any extra cost.
- 18. No escalation shall be paid to the contractor.

Sd/-

Executive Engineer

Slum Rehabilitation Authority

Issued to:	
M/s	

Copy submitted to Dy.Ch.E/SRA for information.

Copy f.w.c's F.C/SRA for information.

Copy to A.E/SRA, for information and necessary action.

Copy to notice board/SRA.

Copy to information technology department/SRA. For publishing quotation notice along with Abstracti-0-0y9 on SRA website.



SLUM REHABILITATION AUTHORITY

No: SRA/MAINT.SEC./DESK-1/ 67 /2022 Date: 09-01-202 2

Abstract

Subject:

Repair to existing compound wall and erecting temporary shed for security-staff on main gate at Admin bldg., Slum Rehabilitation Authority, Bandra (E), Mumbai-400051.

Sr. No.	Description of item	Quantity	Unit	Rates (rs)	Amount (rs)
Item No.01	Providing and laying masonry of I.S. Standard C.C. hollow block 200 x 200 x 400 with 200mm thick mm in cement mortar 1:6 proportion for superstructure including curing, scaffolding etc. complete.	21.7	sq.mt	1398.6	30349.62
Item No.02	Providing sand faced plaster externally in cement mortar using approved screened sand, in all positions including base coat of 15 mm thick in cement mortar 1:4 using waterproofing compound at 1Kilogramper cement bag curing the same for not less than 2 days and keeping the surface of the base coat rough to receive the sand faced treatment 6 to 8 mm thick in cement mortar 1:4 finishing the surface by taking out grains and curing for fourteen days scaffolding etc.complete.	26.1	sq.mt	670.95	17511.80
Item No.03	Providing and applying two coats of water proof cement paint of approved manufacture and of approved colour to the plastered surfaces including scaffolding if necessary, cleaning and preparing the surface, watering for two days etc. complete	21.7	sq.mt	82.95	1800.02
Item No.04	Providing and laying Cast in situ/Ready Mix cement concrete in M15 of trap/granite/quartzite/gneiss metal for bed blocks, foundation blocks and such other items including bailing out water, Steel centering, formwork, laying/pumping, compacting, roughening them if special finish is to be provided, finishing uneven and honeycombed surface and curing etc. complete. The Cement Mortar 1:3 plaster is considered for rendering uneven and honeycombed surface only. Newly laid concrete shall be covered by gunny bag, plastic, tarpaulin etc. (Wooden centering will not be allowed.), with fully automatic micro processor based PLC with SCADA enabled reversible Drum Type mixer/ concrete Batch mix plant (Pan mixer) etc. complete. With fine aggregate (Crushed sand VSI Grade)	4.51	cumec	6676.95	30113.04

		2,86,616/		TOTAL	286616.18
				GST 18%	43721.11
			naa o /o	TOTAL	242895.07
		10		contingencies	11566.43
	completion etc. complete.	то	TAL ESTI	MATED COST	231328.63
Item No.08	and drawings or as directed including cutting, fabricating, hoisting, erecting fixing in position, Making riveted/ bolted/ welded connection and one coat of anticorrosive paint and over it 2 coats of oil painting approved quality and shade etc. complete. Providing and erecting external safety net of opening 75 x 75 in addition vertical fisher net arrestar on the first floor or vertically throughout to prevent debris falling while execution of work, to hold/ absorb the debris stone impact, and during the entire period of work. The work should be carried out with all the safety measures like helmet, safety belt and adequate labour insurance under the supervision of qualified on supervisor and removing after	109.3	M.T	125431.95 299.25	98464.08 32708.03
	Providing structural steel work in trusses, other similar trussed purlins and members with all bracing, gusset plates etc. as per detailed designs				20151.00
Item No.07	Providing weathered pointing with cement mortar 1:3 for stone/ Brick masonary including scaffolding and curing etc. complete.	4.4	sq.mt	187.95	826.98
Item No.06	Providing second class Burnt Brick masonry with conventional/ I.S. type bricks in cement mortar 1:6 in foundations and plinth of inner walls/ in plinth external walls including bailing out water manually, striking joints on unexposed faces, raking out joints on exposed faces and watering etc. Complete.	0.44	cumec	8142.75	3582.81
tem No.05	Providing and laying cement concrete flooring 40 mm thick with M15 cement concrete laid to proper level and slope in alternate bays including compaction, filling joints, marking lines to give the appearance of tiles of 30 cm x 30 cm or other size laid diagonally /square etc finishing smooth (with extra cement) in any colour as directed and curing etc. complete.with Crushed sand VSI Grade	28.38	sq.mt	562.80	15972.26

I/We hereby agree to quote	_% Above/Below or At Par with the estimated cost put to the tender.
Therefore, the amount (in figure)	(in words)

Sd/-

Executive Engineer

Slum Rehabilitation Authority